[ Efficiency vs vertpos |
- 05

20.45

g
2 04

o
[y
TIT [T TT I TTT

Ratio
=

0.9

0.8 :
1072 10 1 10 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWTepo10

1.2

efticiency vs vert z
T

Ratio

20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
> SIS O SO T
D e A A cTTTTT R e
S : : : : : :
T A
e S SRS S IR
0.3 : : : : ; : :
£0.25
5}

0.2
0.15

0.1 - i : : : : :
Y S R 0 NS R N S

ettt R 1} SR

lency

Ratio

Ry {1 eadica) | SR

0 =15 -10 =5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


